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Business Statistics
[ Paper Code : C010102T |

Time : Three Hours] [Maximum Marks : 75

Note : Attempt questions from all Sections as per
instructions.
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Section-A
Yus-J
@ (Very Short Answer Type Questions)
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Answer all the five questions. Bach question
carries 3 marks. Very short answer is required not

exceeding 75 words. 3Ix9=15
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If total number of item 10. Second jtern 8. third
item 12, fifth item 19, find out the value of first

quartile,
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Section-B
gy
(Short Answer Type Questions)
(g sl o)

© Answer any two questions out of the following

three questions. Each question carries 7% marks.

Short answer is required not exceeding 200 words.
7%4x2=15
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Ram covers four distances of 23 kilometers each

6. i
N
at the speed of 12, 16, 24 and 48 km. per hour.
Calculate average speed.
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In a class of 10 students total of marks®ad
variance are 400 and 20.235, while in other class of
40 students values were 1200 and 68.89
respectively. Compare the dispersion in the marks

ofboth groups. .

T T S 10 TS B I T AT HA: 400
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Tl % U S AT P |

Calculate mean, median and mode fm"'.-‘.he

following array of scores :
&%l % frefiea waawe @ we, g oiR

TET% il 0T Fifor :
=90 -6.0 5.0 =5.0 —0.5 0 0.1 2.0 4.0 5.0
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Section-C
grs-q
(Detailed Answer Type Questions)
(Preg st )
Answer any three ques' oi:c out of the following
five questions. Each question carries 15 marks.
Answer is required in detail. 15%3=45
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From the following data compute standard

deviation an_d coefficient Qf variation:

Prfoiad G @ S e @ e e
EINCIEIU
! Marks No. of Students

i BEF B e
0-10 6
10-20 10
20-30 20
30-40
40-50 5
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10.  Calculate the arithmetic mean, median and mode
from the frequency distribution given below :
A= R 1 engfy e @ T W, TEwH
Td qgad Pl T DI :
Class | Frequency
i CIEI| P
10-14 5 '
15-19 15
20-24 28
25-29 24
30-34 17
35-39 10
_ 40-44 | 1
11.  Tfmodeis28, find out the missing frequencies :
3% T 28 B, T S STl S i :
Marks (Below) | No.of Students
meiE (3 3H) | BRI B Ee
10 2 @
20 10
30 ! 30
40 ?
50 ?
Total (3) | 50
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12. . +Caleulate thetrond values by the method of least
squares from the following data and estimate the
sales fortheycar2014 :

Pt Tt R g o Az G
SRl T I T T 2014 B R ot
O STH FHiforT =

Year Sales (Rs. Lakhs)

Gl femt (e 5.)

2008 120

2009 140

2010 150

2011 170

2012 180

2013 200 |

13.  The following results arc obtained between two

series from their respective means. Compute the
@  cocfficient ofcorrelation:
& wigTwRl § o el R W
R qrem S gQ Bl Fearrd T Bl
O I :
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X-Series

grofi-X
Number of items y
Gl g HeE
Arithmetic mean 4
A HIE
Sum of squares of deviations
from arithmetic mean 28
HHIR A1 % o fereret &
T BT FRT

Y-Series
A~y
74

76

Summation of products of deviations of

X & Y series from their respectivemeans 46
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